TfeHTET® (UPSSF) 1 QU AT aT |
(A) I VY Hive 91" B
(B) IR wew Hivret forarnfidt wid
(C) IR Wy Hifere faerfid wid
. (D) IR Yeu Sve et v
Give full form of UPSSF.
(A) Uttar Pradesh Social Source Force
(B) Uttar Pradesh Social Security Force
(C) Uttar Pradesh Solid Security Force
‘_/(Df Uttar Pradesh Special Security Force

2. fEw fim deEd TRy 9Rd &

D

freferfa o & fore Tog Y v TR B 7
(A) IEF (B) T

(C) dermHT (D) IR~
Nivesh Mitra Mobile application is an
initiative of which of the following states
of India ?

(A) Assam (B) Gujarat

(C) Telangana (D) Uttar Pradesh
T &1 frferea & @ g & oft
AT ST 8 7

( it~ (B) v

© IR (D) TWum

Demonetisation is also known by which
of the following names ?

(A) NoteBan  (B) Cashless

(C) No Currency (D) New Currency

1 T Uz, JEEY A1 IEH 3 ed
m&axﬁmaﬁﬁn&f@aﬁﬂww
SR ?

(A) aﬁ%(Consoﬁdated)

(B) B 9 (Agricultural Land)
(©) ST (Grove Land)

(D) Yfd (Holding)

A parcel of land held under one tenure or

one lease, engagement r i

as which of the fol-lo\vs.?ingrgcr‘ll::(l)f'dlsllrtll(w‘trn
Uttar Pradesh Revenue Code, 2006 9 i
(A) Consolidated '\ -

(B) Agricultural Land
(C) GroveLand
(D) Holding

PON PRGN TV E APch PETLA TV

\

FON PERFLHTIOF L I PATE TV E FOHN PO T o8

(B)

309 H WEEE i S ggaw:uﬁ
FROT & fore gaeasiie SHhRl 5™ -
I, qrEEE 31 e HTS e FA1fE S
T BT YT FI1 HEATA & ?

(A) ﬁﬁh(&mrcing)

(B) AT (Losing) R
©) =ifé (Cheating) h 'il:l
(D) T®RF (Phishing)-
An attempt to obtain sensitive
information such as username, password
and credit card details etc. for malicious

reasons, by posing as a trustworthy
source in e-mail is called as

(A) Sourcing (B) Losing

(C) Cheating (D) Phishing
‘o frfafea A A fPa g Hr e @ ?
(A) uTEetS AT -
(C) TH (D) afen

“Taka” is the currency of which of the
following countries ?

(A) Thailand (B) Bangladesh

(C) Turkey (D) Serbia
frfaftga 3 & @ a1 s soed & o
HEI TR R ?

(A) SIUEe Ushel YUTEA ¥ qEd R 29
T HHI I 3R ufspan @ |—
(B) fiwwd! ush e amenid U R | «

ST

(D) =gatt 3 Fnait w &% van &
Which of :ﬁ% ‘

1ch of the followi 18 not
correet for GST ?owmg sentences 1S no
(A) GST is a common law and
Procedure throughout the country
under single administration.

Tis a destination-based tax.

is a comprehensive levy and

collection on both goods and
Services at the same rate Wwith
benefit of input tax credit or
subtraction of vaye.

CI¢ are multiple levies of tax on

(€)

(D)

FK-3

B e e e

g0ods and services. i

ANV o e - PO
ST PTENDSY soo pagpa miy e AONPETEATI LTS +




8.

Sraferfad § | $F | GGUE Fo, T
3 fqa g ?

4 hTSET SCUTE (SHGITe SGUITE) -

(B) RIS ST
(C) SRS & qTME

(D) WA TR
Which of the following ports is located

S dfriza 3 T @ d W s
frferiaa o @ foFm 9 % = wEmE 3T

Tfersfiera auEd A & R 7
Wy (B)
(C) Hietsh (D) 9T
The Union Cabinet has recently
approved the Migration and Mobility
Agreement between India and which of
the following countries ?

11.

in Kuchchh, Gujarat ? gA; Germany %B% Italy
(A) Kandla Port (Deendayal Port) C) Srilanka (D) Nepal
(B) Paradwip Port 12. = & H, ST A8 1 B e SHTRE
(C) The Jawaharlal Nehru Port ST Sy Fefted d 8 fee e
(D) Mormugao Port Wqﬁ?ﬂ%_? .
0. 7w & H, ot i wg ¥ Pt & & (A4) ma*"“d m""“a*‘
fpg wH W WA Hisfe S3 '(B)aaa,awﬁ : :
ity ©) %1 ISTTE, T, T2
ey ATH 31 (NCDFD%W@ (D) HER] §eUTE,
ST W R 7 léecentl , Indian Navy’s Fast Attack
_ (&) I (B) X m?%miﬁ%%ﬁicﬁi%am"ed izt
(©) -31@ (D) e A) Colombo, Sri Lanka
e i ) Male, Maldives
ecently, i t Shah has laid the C) Port of Jebel Ali, U.A.E.
foundation-stone of the headquarters of D) Matarbari Port, Bangladesh
National Cooperative Dairy Federation |13, frafafes @ 9 =19 ?@?Té figeraR
of India (NCDFI) at which of the TEITISH T ? ' W
following pl ?
P iaees (A) @H THRR GH>
(A) Anand (B) Jaipur B) qeEEe
(C) Bengaluru (D) Gandhinagar (C) W AR
10, Frferfaa § & P &1 TR wEH1 IR (D) HrEwg aref o
U 3w HaEl B IW FEH I Wiho among . the Jollowing was, the
: the u
SfereaefT sy a1 HW o forg I 1 &g A _KhanAhdu]Ga’ffari(haaggars'
ST ? ? | B) Badruddin Tyabji
_AAKY T TS T GO - ) Mo e oAt Tisnah
1
% FYT IR 14, Tr=fafga & & femm 7@ & # Sifa-
(D) ZrTER TEEHR  *¥®H (KLI-SOFC) %1 3guTed fran 2 7
Which of the following awards is given | Ay % Torm fig (B) <. w@. Fawi
to motivate Cooperative and Milk (C) st (D) gﬁ:ﬁ;.q\a
producer Companies to grow and to Who among the following h
instill competitive spirit 2 inaugurated °°hi"Lalﬁhadweengslam?l§'
(A) National Gopal Ratna Award Submarine  Optical Fiber Connection
(B) Arjuna Award | A I-§$%¥e0$ &
(©) Dhyanchand Award - S e
D) Dronacharya Award C) Shri Amit Shah
NPT TSV G2 PO DIV PO ST P Shet Narendra Modi
+ o ; ¢ L 3 “W‘mmwsmmmmwmmww‘

FKA




idfgd ®§ ¥ fea foeen § ol w=e |24 ‘aﬁ:ﬂm’wﬁﬁ?wmﬁ%?
F(Tgﬁw? T (B) e, dien e d S

. i, - D ﬂ‘ﬁ
(C) =, @WUHR - (D) I, 71 (s <

16. ‘At i ‘Tefa wee frafafaa & |

forg roe % waaT= & 7 (A ORI SHI
(A) 39 (B) 3w (B) IS HHTE
(C) I (D) wWe- (C) TEEIE

D) e

17:05 94 3 e % o= Y fean’ 3@ T
o v Frfafaq A a s @a 7 |26. i, 9 H A G b IETET & ?

/(—zcx) = - (B) AmE (A) FrTeRETSS T
© W. (D) e (B) SRAETEh T
18. Fre fasea § wee fomm - R &1 @& ©) Freaams o™
FI-"E R ? (D) P T&aT™
(A) YT - WA = T NI - e ‘ .
S (B) = - = 1 - " |27, Rwew = % afr-forede &1 =@
(C) TR - YR = wie - R shifer :
(D) fom - fam = g - T (A) ®feu+e@  (B) WieU + 3™

19. ﬁnﬁaﬁaﬁ%mﬁwﬁmm%? (C) Wi +ae™ (D) i + e —
(A) o SAThE 3 a1 A0 e W R | |28,
_(B) &~ Sl T T HETR | ;jﬂmﬁ@ﬁaﬂt%aw@mm
(C) <@ & i U5 e & 1+ s
(D) TS LTI 1 T B & & Fcweh e (B) s faredt
© WwwfEs D) g e

20. PrefafEa i gam ag F s hifvw: [29. ‘Tows ¥ # {8 yoR & TEmEuE

(A) SO (B) IEREA ey
(G R R, |
21, Freferfn # & fem v w1 wm B s R
?A?mz?- 8 - (C) TH==u feso
A oy (B ST (D) P T R
) & (D) T )

| : 30. ; ,
52, % IR R | W@iihd W H HH A %m;g;?ﬁﬁ%r@aﬂimwﬁ

FH ¢ 7 B | . ,
(o) T TEB) ST o
(©) A F (D) Ejm lees (D), efehferes B
ﬁmﬁiﬁﬂﬁﬁa@EW'__.,._._m.%? 31 ‘Toeemee A SRR Y ¢
& (A) FATUIK (B) i | (D@ % B) we-
©) - ) R e O Dy
m&m‘ww"‘ml mmw“mm _—‘4 . i S " I : I‘MWW‘GO“WW'MW“
FK-3 | "




. TE I EET | 3 9§ B a1
&I 7
(A) FHISETE (B) wEaTy
(C) FqE=A—~ (D) wHsETA
feret =1 AT I gETSR T 3o waTgu
 (A) HIURY ST I TG1-TGTH el
(B) ATeRHUT HTAT
(C) T &1
(D) =34 T FHEHT
“TE’ 1 ey wee 2
(A) =&==" (B) A0
C€) ¥« (D) @&~
TSI WY, T AL T I SAehifer 1 31
fafafea g a s an? 7
(A) ST =t ST R 39T 9 97,
2 (B) %% g A A
(C) 3Ircafersh o™ BT~

33.

34.

35

(D) ¥ & wi-amg St

36. ‘wy PR @ w Rt yE e
(a) @ B) Mg~
(C) WHH™ (D) v ™

37. ERE1 % T afi wqed = & fraet wmmd
B E ?
(A) 16 (B) 13~
© 11 (D) 10

38. famafeiRaa # @ frw oo & wam wf =
BT HAER & 7
(A) % (B) 3I&T~
sl D) W

39. Ferfafea 3 & W’ weg it arened wee

40. 58 WER I GH R || 56 9 HT el
- UEEIT |

(A)  ATE MThTEA /o AT 7
(B) Hfey adumsser
(C) HMT= FHTT

(D) ot ¥erhret

o FEATFV L Aoy

A B PO\ TP

Frefetfaa Tame i1 sget @ T g &
SR AT : (7. F. 41-45)

WA WAL A -H1E hiY gaen |
TS @ R | 39 E H TH WA
i 7E 3 5 wndw wed %

THRTAA g e

_FHHIAH IR T3 e
gl W fervafemmeE & u
IS MEF-09 § < g UL hIH 5L

®E | 3H g | ey wmedl % Qs
Hadt U 3R 3fEh dEe! @ &4 T8

2, afc 39! forea firr, mf, 3w,
I 3R JUH & @l 6 frega § ot
U fh 39 @t < o oRaehl <l
Fiaar a8l & Tca G o i ggd # |
Had ' @ & fh geal W gsl %
Ui Riféa qee i gfee a4
gt | BT qeTehf 3= fifdrd e St
FS Yo WTEd 7, 30 3N # € ug wan
®, F&1 7 fob Iweh! ferar 3R I=me vgy
61 o oft S N Bl s sv=m
TG & FAT & STt B 3 3W 78 I
71 @ T A R wlh & 9 R
THTS 1 T B IG% HNITE 3U=TE 3R
F1 3 e T A = A @ |
I Si@eh 1 forard @ 2 wifs
(A) ST Jhi i T8 F TRE TE-

1 7 W |
(B) 9 It wma wRedar frfera Tt ae
T TE 4w |

- HHIS <61 BT -=TeT T& 919 Tohay |
(D) 3 3t & forg 7wy |

42. 39gF i -

WA Tt Y g

41.

(B)
(©

(D) W

. ' -




43.

44.

mzmms
mmaﬁqmmﬁaw Ete ey 17.28+x _,
3.6x0.2

H B ST R ?
(B) %!ﬁ if
| e
(A) 8 Bl (01 O) 10

urrm‘m TSI %
ﬁmaﬁﬁmﬁrﬁﬁ; ?“ﬁ' Siblgs
(A) TRaEt

gfufaa




wH YR Thgle N W 3 99 &G |63, 3HH 26, 20, 14 8 2 |&1 9g T

7 4,460 3 6 T 91G T 6,690 T I & |
FrATTE SR T i |

A sum of money amounts to T 4,460

after 3 years and to T 6,690 after 6 years
on compound interest.

Find the

pproximate sum.
(A) T2,991.66 » (B) ¥3,115.33

(D) %2,973.33

it |

Find the 21% term of the sequence 26, 20,
14, 8;rc0ere g

(A) 88 (B) -100 -

(©) -9%4. (D) 146

) geTHR AeH F fer 13.86 3R R |
7 3.2 s et 1 G T TG TR Bl
T T I | (1 3R = 10,000 m?)

The area of circular field is 13.86

' hectares Find the cost of fencing it at the

er metre.
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;;.67%71:31:%%31%#31% 72, fow o fm § AR P ww Ao
Q. Nos 67??; ?;s:ma tlhe b h L, Wmﬁ g "
and answer the questions %;ased offtg.ra £ L gﬂﬁ ik %_’ at w 1w
3 W‘T*mmﬁwwmmﬂf wtsﬁﬁwi‘ﬁhﬁrﬁﬂﬁi ?
roduction of Mobile by company (in Lakhs) over the years In the given figure if Triangle represents
healthy people, Rectangle represents old
persons and Circle represents men, then
what is the number of those men who are | T}
healthy but not old ? e
63'7)"

}1




T T
ANDMANAND

(S el 31 S 1 9 ) T e e A R | 83. 9 fo 7w = 3 W HuA IS L
j wﬁmmmﬂ@aﬁms&wm ? 11, T 3R IV Hif%d S o 2

gg&%ﬂtiaﬂgepla%?d a(;fthéengrss II:V htﬁg AL A8 T e W

gi_Ven Ietter St?ri:s ésl?glln comp Sy a‘;ﬁ%’gﬂfﬂflﬁ ﬁiggg g&?{gﬁ

8 | Ryt 3 & A IHEA | -

o 5 o sy & d

] aﬁgras’tml e .
'givensgnes &atc\?v?l‘l"%to “lﬁi‘t?atﬁ‘e”‘seﬂe‘;’_“ i Lm@ w4 & FYeal TAwal
ks 53\’?8'( 2\ aeft |- _

s RSSO AD)I TS % : at?flasa:rﬁmmmaa
i e ST B T aE #
IEMA @R I” |
3 ¥ foru wgq A
o ) ST B @ | F W W

g rate €1 A T ¥
V. ﬁlmwhmﬁaﬁmw
mﬁﬁ,ﬁm%&wﬂﬁmm%l/
(A) et 11 31 111 Pl € |
(B Syt 1 37 I AT 8 |
(C) et 1 3 I g .l

low consists of a
ments




A1 fan e e O e 3R 36 e 1
17 11 shAifeRd gt amomd € 7€ # | ammaer
suq 3R Frafafed ymome w fEw
F R ol folr o R fF W W
HYA : 27 TS H HRE ¥ Pl FHerer |y
g fe ST | :

YR : 1. S 27 QT 7% SO § @

I8 Tgufa 79m | K

AR) AWM IIRAE 11 siafifka 2 |

(B) AT 191 11 s7afifeq & |

(C) haret umaom 1 3iafifa & |

(D) et RO | siafifa & |

In the question below a statement
followed by two assumptions numbered |
and ITis given. You have to consider the
statement and the following assumptions
and decide which of the assumption(s)
is/are implicit in the statement,

Statement : Imprisonment for 27 years

made Mihir Kalal the President.
Assumptions :
I

One who will be imprisoned for 27
years will become the President.

II. To  become the  President
Imprisonment is qualification,
(A) N

either | nor II is implicit
(B) Either LorII is implicit.

(C) Only assumption IJ is implicit,
(D) « ly assumption | is implicit,
¥. H. 85/ 89 : el w3 W %
ma;ﬁqﬁw%ftgama’gﬁzw'
< e EET
1) 7 65% 1% W o gy 5
: S Ty
2 %wqﬂmﬁw%msm
() 3 TATHR A 5 H 7 0% iy oy
(4) 1 3 1-10-2005 1 21 T4 A 3 5
@ arfeen 72 e =T |

| W“M‘mﬂmmm
TENPETHN TGV 6 GO PETLN TS AN POTLNTIVE FEN 1

FK-3

3 e 35 T 5t 97 el TGS

m%sm g 0 W%mw
A T (1) §, 3 70% i
ToRITEg Sof"eR &, d HTHe Siew,
1 St o G R | . AN
B. 3T (2) A, Wi foweH 7
8, @ mren e, Sefl fifa YA S
freferRed T S 0
| ST @ R | ST ST A
ok vl % wed ¥ sEE ey won 3
i et s e o et 2 | sy
@ T ST % S $5 ot 7@ W
2 1A W A S 1-10-2005 6
feufa % srgem fegme § |

Q. Nos. 85 to 89 : Following are the criteria

for selection of computer professionals in an
organisation :

The candidate must —

(1) bea Computfar Engineer or MCA with

first class having minimum 65% marks,
(2) have secured at least 509, marks in the
Selection Test.
3)

have secured at least 409, marks in the
Interview. :

At (1) above, byt ; an i
Engineer with 70% ; E l::;r e
2 ie r?g;rreg to the GM, Recruitmente R
j t above, but i hayj .
2 years’ ex €rience | w::-g' o
Systems Analyst, g

| oL thet e i
mformahort; about One cang; gteqi:egs,ﬁggs
' e i i ;
lhe-above 'c?-i tea‘;l?-lYSe 1t wi reference to
decide g, T1t€ria ang ondition and then
o 4 € Courge of action.

->Sume anything other

] lIlfflil‘m_ation. All these
Y0 35 on 1-10.900s.

"BV s, gty

L g




n’@_mi’r 1998 § 22 dreT 1 3W & 70% |87.
i < | T fopa | B HIETEHR

1 35% 37 3 = ghen § 55% 3
T4 R | T5® 1999 F SR & 9 H T
JTiAER At B wife §Y R feEer
2002 ¥ fereen Tfere % &9 H 9= §U |

(A) 3 amHe S, et ! ST AR |

(B) 7fe wTHeT STeaE, Wl AHfd B A
FHATR |

2 Fefiar =1 =9 7 fr I 2 |

() Ak
a2 Fficar %1 95 R A @ 1

“Modi Jay did MCA in 1998 with 70%
{ marks at the age of 22 years. He scored
559 marks in Interview and 55% marks

in the Selection Test. He joined an IIT
company in 1999 as programm er and got
Analyst in

Systems

foem, T F TR, 2003 | 22 @

6t 3y § aifem when §F 72% i & 1

Iefiol g3 | IEA == T H 70% I

3R TR | 48% 3T T, R |

(A) I |

(B) dfe AT JeAE, Wl gty =i S
T | |

(©) 2 eeaT 1 =T TE A SR |
af Feficar 1 =7 fF SR |

Vijay, a Computer Engineer, passed out

with 72% marks in the final examination

at the age of 22 years in 2003. He

secured 70% marks in the Selection Test

and 48% marks in the Interview.

(A) Data inadequate.
(B) If the case is to be referred to the

Chairman, Recruitment Committee.
) Ifthe candidate is not to be selected.
) If the candidate is to be selected.

3




& | 3 B HJT '"*T@T?ﬂﬂmﬁss%
ol o e B | 3 XYz 3

(B) ?Tf&'q-rqw e
E"’"i’l STHy, ‘R‘ff'ﬂﬁﬁaﬁﬂm

(D ‘GTI'-'IT%|
nn’,y;“" o
S

Dk

*FIH, HATH :

(A) m%mﬁq@
wﬁamﬁ%ﬁm@

¥ Ty
1 iy
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r—

Egmgﬁﬂ%,ﬁ%ﬂ?ﬁ%{i 95. Y TH ¥y I # HEA & S HiE
e Y ST e 3 fere STl e TR e g AR e B
) TR T TET & | SATThT i uegat o wiifda fem moR )
(A) 3T T TR Foie % TR S et STl S HHt F HR, ATH
FT A T =1 | s e S Wi STl & e S weH
(B) Wéﬁzﬁ[ﬁ@mmaﬁﬁ o e e Bl 2 3R ST et
S BT &1 § 7T T Fell T
Sl O =R | <51 ST 21 BT & | ST A @ o6 A
© mm‘aﬁqﬁtmﬁa@ w Ja% I dw@ wH g W A
! TRGHRIAT & U1 T | FSTeTeT Sh ST T & | AT :
(D~ it fogr <iee 1 SeaTade S =TT
w7 ¥ AN F Rewrs wEd THA (A) T wh 3
. T =R | et s % el @
ou are an Investigating officer; the e =1fRT
primary acc%v%ed in aghVI a%sa_lgsinatiipn ; :
case is offering huge bribes IOr Sifeu Sif TR
manipulating evidence %.nd influencing (B) wwﬁ;ﬁ @
%%ges to ensure acquittal. You should : 3% sraEt ! aem 3 e |
avoid investigating as r your
B) ind(tipegdent p%febséona]lj jul_zlegemy:ﬁt. (C) ™4 ggdt =T } e =Ry 3R
retend to agree but submit we
© abricated bgzrus etviéiencc(:i ! g RrpEa A RE arferenTiEt
remain uncorrupted and present EHhi & ST =Y
D) facts tlransparent y (iin c%urt. i ; 3R 3 I
com on records but secre . EI%Q
collegzty dialogue against accused. ! (D) Ww&ﬁ & §HI BT S
=iy HTEE e 7 TEd TSR &A1 <1eT |
94, 317 U gfere ARHE & T ; You are a constable in a special cell that
wdiud W 1S T b 3 AmEt B deals with cyber crimes and online frauds.
et & Fore, TRt - You have been trained in various aspects
(A) mﬁ @ & foe 1S of cyber security and digital forensics.
. mﬂ?m@ﬂ@ MR | However, due to a shortage of staff, you
gfey gl i T&=H FH b are assigned to a patrol duty where you
e @t TTH # TH-TH TS have to patrol the streets and respond to
T =Rl | emergency calls. You feel that this is a
(C) Tt & fog T Ty TEed boring and mundane task that does not
AT ! Site A TRC | suit your expertise. You should :
(D) SFTfUHR Toft TR i ST (A) do the patrol duty enthusiastically
You a-{:: ftafi%ﬂ as a ollice officer; to and lean from the experiences of
%r%ﬁnt fm'thﬁr cigscs -oP card cloning at o Zthe;lpmd ofﬁcers. 3
'Ms, you should : o L o the patrol duty but constantly
(A) purc s cloning l mactnne“_' look for opportunity of taking leave.
(B) lqﬁe 051"% observer eacalégg rgllh%fsﬁs (C) do the patrol duty reluctantly and
o identify suspicious acc : - : .
(C) examine ATM machine acc%ss logs complain about it to your superiors
D) or Ao Sablchall ATMs in R sy
emporari sable ATM : 5ot ] . s
e Tons digti'on. (D) fefl'lSe to do. thg: pgt_rql dqt_y and
insist on staying in the cyber cell.
PHTTN DIV R AN PR OV FEH P YA O PN T ROBNP i R PN TRV O P P 60k poncy :
13 FK-3




/ﬁmmm%wwﬁ,

afers srfereeTh ¥ w9 H, e A

/98. ,
0 RS R S S w(%wm%m3ﬂ@m

Nﬁ:wﬁmgéam@mﬁrﬂ%agq%im:

(A) s 1 S 6w @
T F QO & s A
T TR |

(B) o1 |1 &1 b e F T

(©) AT g % farm pw ot =)
Ta=RE e
(D) urfafies wrafma &

stage of a nationwide terror

manhunt, you learn your only parent

suffers a debilitating stroke. You should :

(A) commit singular focus expecting
siblings to handle parent.

(B)

conceal news avoiding distraction
till mission completion.

(C) remotely coordinate certain areas
without Ops leadership.

(D) handover reins to accomplished
deputy for family priority.

AT & Feiewr F witfes a6 witg l@

B THI, ITTTHT :

(&) Scas et % fie s e
/ﬁﬁmaﬁwﬁhﬁammﬁq %
) T Tonedt witen oftre i sufeufa &
=R |
T =R wW Y wmR
T A1ET | e
D) = 18 1 39AM -
¥ (D) bl ‘i?f:;?%”
When investigating - ld(:mlc
e ot o experienced Woman

A & | AT qd

(A) TFRA TEW FTH W AHSIURR
ST 1 AT T T1f_T |

(B) 3T o RIS T SIS
HRATE A HE TR |

(C) @ F=m W W TR w
RECEaU

H&!WHI”L%GI aTTRT |
(D) wgwIfiren % forg fofm-tfrenr wapery
g i wfafgfE st =mfzo |
As a police officer, transgender citizens
report facing harassment and dignity
violations during law enforcement
interactions. You should :
(A) take complaint and forward it to
Human Rights Commission.
(B) enforce strict disciplinary actions
against offenders.
(C) implement mass sensitization
drives on appropriate conduct.
(D) depute gender-rights community

volunteers for engagements.

wg%amﬁmrq%wﬁ,m?ﬁﬁﬁﬁ
i LEN
?ﬁaﬁ»—mrﬂ@%l Gl

As a police officer, you notice certain
religious  minoritjes being  denied
Beighbourhood entry. You

: should :
“without direct (A) enforce  divers; b osting
Inspector minori ty by p
involvement. thlessl (®B) 1ty community officers.
e n Medical test ruthlessly organize multi-faith community
@)t los 9 women police present. o dialogues to ease tensions.
Mthougl?;yintewiew the victim 1n (©) reffll; complaints to state’s minority
erson . t. Welfare schemes. .
(C) glain clothes to bmldtz.t‘;il(sm along D) arrest  and  prosecute housing
te documen Societies flouting laws,
(D ) comple i eudo-name. 2 B PILNTFT € TN PO T oy v N ' P s T T
with FIR U808 Ry U R
& O PIILNTIT
FK-3 |
s H
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w i At & ®9 #, e &

7St & e gfera RYm & fage fapan S
2 | frfafea # @ =4 @1 39 st &1
a1 & S gferd RIm HT I9I 2 7

Asa pohce officer, you are assngned toa
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

(A) Deputy Inspector General

(B) Superintendent of Police

(C) Circle Officer

(D) Station House Officer

N N wfera et 35w, e A
ii

mﬁﬂaﬂﬁﬂwmhm ?

102.

103. T

SRR (2) 3 i T 3w fawet @1 |
o =7 : 9 EA : ?

(A) wrEd ®) =@
(C) = (D) =%

Find suitable alternative in place of
question mark (?).

Mother : Child : : Cloud : ?

(A) Weather (B) Rain

(C) Loud (D) Shine

oferm st % ¥ H, T i
ﬂﬁr—ﬂaﬁwwﬁﬁuﬁaﬁ%mm
aﬁaw%ﬁi&ﬁwmmil
ST :

@ smefes SgEl Y e

IR T W | T@ S a?tﬁ
| G ST 1R |
(B) g&ﬂﬁmmﬁlﬁ%mmnﬁ

P 4



UBL

PTELS Lo
() a;mﬁmﬁ??mﬁm&;ﬁ(

ST ST G HUTT ;

Choose the correct alternative from given
ones that will complete the series :
2.3,15.9,79.6, 423, 2574, (2)

(A) 18067 (B) 10300

(C) 8432 (D) 5632

105. Th fifYaa g Wi § “MADRAS” #i
“OWNHEQ” foran 5w 8 | 3¢t e &
nA DRAS  “SUNDAY” % &3 forar smam 7

WNHE ?In a certain code language “MADRAS”
’ is written as “OWNHEQ”. How will
“SUNDAY”bewnttenmthaIsamc code ?

_(A) UWZYWR (B) YWUZWYR

A&r UWZRYW* (D) {WUZRYX

106. ¥ I H 7 foreft =reran 2, e aw ot

- o183 AT R ok 3 el et & | 9
X ﬁa%mﬁ#aﬂtwésﬂwﬁm
2 -"'t"-r-m’asaﬂ'l’rmfﬁa;ﬁgé

& & r’f

.-:.T«PRL @1 3#( afed

108.)3fe I1sE “S ?mrwﬁmﬁ:nmﬁ

37eR FT WH ATH

7St FufaTe wﬁ 7

If in the word “SPIRITUAL”, position of
second and fifth letter is interchanged,
similarly position of fourth and sixth

letter is interchanged with seventh and
i : __jf‘ ely, then how many




111. ﬁﬂﬁmﬁﬁﬂ?mmm TSR,

112.

mﬁ%ﬁa’maﬁm 3=t e euan

7

Which of the following diagrams best
indicates the relation between India,
' Gujarat, Surat ?

-© O
(C)OO -}Dy‘.

TAH: 120+ 3+8x3-40="

Solve : 120 +3 +8 x3-40=7
(A) 74 ‘bei-'m..qo (B) —256

© 2 T

114. TS ™ ® e 3mam 4 -

@

W

Y
Ix3BME L A
ST 4 x 3 & fouda Hes ool T 3 T
T § | 3 W 4 x 3 FH faudia v
et @1 & T T E | AW 3 x 3 % faadia
FoE R AW TCE | 3@ T o 1 7R

aﬁ@%aﬁﬁm%mmilt%
ﬁlﬁﬁ'@ﬁ‘aﬂiﬁﬁ?ﬁqwmi?
There is a cuboid whose dimensions are
4 x 3 x 3 cm. The opposite faces of

dimensions 4 x 3 are coloured yellow.

The opposite faces of other dimensions
4 x 3 are coloured red. The opposite
faces of dimensions 3 x 3 are coloured
green. Now the cuboid is cut into small
cubes of side 1 cm. How many small

cubes have three faces coloured ?
(A 20 B 16

D) 8




il?.@W@Wﬂm%m

e ) a1 7 1 W 2|

frafRea e e 8 -

(1) HEHsSATEAME |

(2) WIg987 WEHTT AIe |

(3) TN 3% Y& 3 I FAME |
5,987 (4) TR 3ieh gEY 37 BT AR |
A a9, 3 fRuf w fen w@ g, amts
sn Pl s e o

Find the suitable one.
(A) 54}8987_ ' (B) 5632_@1
oy ssaosl. (D) 34281
Mmémwwammﬂmﬂ“mmr 12 18
FK-3
) ——N

Fresfta fope & | SugeR 1 9ar @I |

A scientist is trying to recall the access

code to a secure laboratory. He

remembers the following details :
(D
(€))
3)

The code starts with the digit 5.
The code ends with 987.

The second digit is the sum of the
first digit and 3.

- — =

(4) The third digit is half of the second

digit.
Now, considering these conditions, the

has narrowed down four

scientist

botential access codes for the laboratory.

118, F3 v H
a;a:ﬁﬁ_‘qpfﬂé

@

& o 3R 38 TR, 11 3fk
i frspd fou T B | 3
axft aTdl B /A A R,
A e fh ol
ﬁﬁ@mﬁﬁsﬁﬁﬁ%ﬂﬁﬁm

{11 iR

IL Wqﬁﬁﬁ(ﬁg%ﬁ@mﬁ
W dgar ware |
e i
L W&HW%I .
I 3 U fafe R | Hifta gar 2 IR
Il ¥H S48 §9 8 gEfes nfafafy &
Tl 1 NI LT @ K
/@q’laﬁtmaﬁmm%‘l

(B) 13K II gHT TFE hd & |
(C) et fssh 11 STETT HLaT 2 |

, (D) 3 Fshy I STETor HLar 2 |

In the question below two statements
followed by three conclusions numbered
I, I and III are given. You have to
assume everything in the statements to
be true, then consider the three
conclusions together and decide which of
them logically follows beyond &
reasonable doubt from the information
given in the statements.

Statements :

L. Water has no shape, has volume.

Il The knowledge is like water,

flowed from one side to other.

Conclusions : .
{i The knowledge is interdisciplinary

+ The knowledge is bound within
Specific areg.
The knowledge influences the cOr¢
of mental activity directly.
Both I ang III follow,
Both I and IT foljow.

Y conclusion 1T follows.

II1.

(B)
©
(D)

m%c&t}ch{sion I fO]].OV_Y_E:mwM";

2 TN AITE



71 o 6 sl () # o g gwet @ 123, W e g ot s A B 2
(2)-&%3;1 ) 4 9 A W t(:l«'lléor(;ss:the figure which is different from
Find out which of the figures (1), (2), (3)
and (4) ::hanﬁbe formed from the pieces | e [ R TR L
in the
e <Pty L CE niu i a3 n
AV N[ HIAIRAS D @ 6 & O
@z @ i ((g)) 8;
: © @ '
A) (4 B) @3)
_/EG)) (2; ®) @ 124, T A0 § e B v & e A A
120, =T farpedti & & way e P et e ??;% |ﬁéﬂ;ﬂ?ﬂ?§ﬂﬁ%mw /“!s*f
g Y U HIS W e e femrd am | s e o i
Find out from amongst the four 59 fire B) 550 "@“9
alternatives as to how the pattern would (C) 47 fome (D) 38fe .
appear when the transparent sheet is The number of apples in a basket 2
folded at the dotted line. - @ doubles every minute, If the basket s full L s
Oiv -i € i @ of apples in an hour, when was the * £
<0l 8l (8  basket half-filled ? et |
00 Y > (A) 59 minutes (B) 55 minutes ot




127. ﬁqﬁ@ﬁﬁﬁﬁﬁw%qﬁﬂzﬂ
@a@ﬁmﬂﬁmﬂa@ﬁﬁsﬁa%?
HeL A1t

#ia (B
(c) TEvEERe T (D) ieere HAt
wing is the Jargest salt

Which of the follow
water lagoon lake situated at the

coast of India ?

' Eﬁf@?ﬁ, Waﬁ'(ﬂlgﬁ ICI=I

. ﬁm & T S R ?
(A) A ETa By |§iélm‘{
(D) H{he=

(€ : |
jvation, owWINng and harVestmc
The Gl la‘l%rwn as which of the

wing ?
e iculture (B) Viticulture
(D) Sericulture

A) The Chilika Lake
B) The Lonar Crater Lake i
[C) %e Il"{anfhbhfgf(a Salt Lake (C) Piscic ture
e Kolleru Lake
. 3o 1 @A 4 & TS H T
128, T v fe it & PR a1 €N & 7 oy gt # | i I8 YT WA %
(A) 13 LBy ¥ ﬁgﬁ‘ﬁgﬂﬁﬁml‘lﬂﬁf@m%?
s O .
The white light is composed of how (A) FAICD (B)
nAany colours ? (D)
S T B P e Bailadila hills look like the hump of
an ox. This range of hills is situated in
129. iz dfem G Frefefe 3 & fF @ & @ which of the following states of India ?
= fRm R ? (A) Kamataka (B) Kerala
(A) frefidta By At (C) TamilNadu (D) Chhattisgarh
(C) FERfmE (D) ST
The Great Barrier Reef is located at the Sn mﬁﬁmmﬁﬁ“@*@
coas of which of the f%l;owglg counries et e g AT I & ST B € 7
1lippines ustralia WW
EC) Indonesia (D) South Africa Eg))
130, frefifea & @ #1946 # W@ H 5
R T ¥ T & 7 l WW 3R 7R ! @Tel
k) S TR D) Lm‘?ﬁw
(B) . ®.3R. TESH rottcha separated from India by 2
ch :
©) FATEATA E® & ofthe foll:mwi;é gf sea formed by whlsh
(D) TRER TEEHIE 9o ' (A) The Strait of Messina
P“;hqdeartm?%h ﬂéc ftqlll:)emng was the (B) The Makassar Strait 5y
) o) ; : siotto |
IKCEJS; 8: 1 %16 ?cdr:_ns.l dm ssembly of © gdhaiml‘;?lk Strait and the Gulf of
. Rajendra Prasa : g
Ry o e
aw al IN€ 1 .
(D) Sardar Vallabhbhai Patel [135: bl ﬁ;ﬂﬂmgmmﬁ;ﬁqﬁ{f@ﬁﬁ
131.“namwf§r”_ﬁﬁﬂtﬁ1=ﬂ%ﬁﬁﬁ# HiEhlos FRHAR 7 g
ﬁ;‘a%mﬁaﬁaﬁﬂéa"r? A e
(A) wurEH ._,é(g;" A e (B) fafwe
(C) wE : T fer
The “Prayaga Prashasti” had been :;}rl:ntsggfgm‘- Cattle Fair is a culm_rﬂl
composed by whom among the e at which of the following
following in Sanskrit ? Rl India every year ?
A) Baudhayana ; Bhavabhuti (A) Odisha = (B) Sikkim
{Cf Banabhatta | - Harishena. ._ (C) Assam (D) Bihar
ym‘-wsmm:ﬂmwﬁrmw,h — o AR, S ar
20 STV L S0\ PILS T4 e s O T mwﬂ"“m*

——

7 ——




“forva g o S = freferfaa i

2 forg T wET ST @ 7

(A) 253 (B) 739x

) 2 ¥ (D) 23 31—
World Book Day” is celebrated on

which of the following day every year

(A) 25" June (B) 7" April
(C) 5" June (D) 23" April

136.

137.

states had ©
canal irrigation

hundred years ago

(A) Kerala :
(B) Himachal Pradesh

140. I3 Tt §
<Rl ﬁsﬁﬁﬁ T fafes (NALC(

WHEATRR 7

(A) TR, BEETE
(B) HawER, Sfsm
() fomeng, s

(D) T, FEH
um Company Limited

National Alumini
(NALCO) is having its registered office
at which of the following places ?

(A) Raipur, Chhattisgarh
Bhubaneshwar, Odisha

©) Digboi, Assam

(D) Noonmati, Assam

141. faw e @ed (WHO) 51 G
ffafad ﬁﬁﬁawﬁmﬁm%?
(a) ¥, P

e




143. 3 v f Xy werg) Frerfenfiaa 3 & o6

werl % e g & 7
(A) =mHe gt & g
(B) g
(C) Tt
(D) el gd | _
Bhadohi that is located in Uttar Pradesh is
famous for which of the following art ?
(A)  Glazed pottery
) Saree weaving
(C)  Chikankari
(D) Carpet weaving

7
147. w40 et

3§ RrEh! eI 3

JEATE ?
3 & ot S

W T (D)

| Mathura is the birthplace of whom
a

i t is also known
among the following tha

Brij Bhoomi ? |
?;) 1-IJLord Rama (B) Lord Ganesha

(C) Lord Krishna (D) Lord Shiva

148, 37ehe 1 Hehel TAeTRad W § foh T

_ TR ?
144.ﬁﬁmﬁ%aﬁqmmmww @) w@ (B) I
3&?% ?’ (©) THR AD) ﬁﬁ"{'{
/Eé)) ?l‘q‘ (]};3)) m&:ﬁm Akbar’s mausoleum is located at which
Which of the fono“fin; is the state tree of the following places ?
of Uttar Pradesh 9 (A) Etah (B) Unnao
(4) Bamboo  (g) (g (C) Rampur (D) Sikandara
© Bayn (D) Ashoka
145. &1 et wfrg . 149 ﬁq&-rf@aﬁ%mu%mwaﬁqmsr&na
TG STHARY R Ry
37 32 85 3 5 ey v o, By T B Rl 3 v
. SR e 9 oy o ST R 7
e 7 A) wwg B) T
W) W B) gy ©) )
gilh Q%T i e Which among the f, IOW;'W
R ? aal is the famoyg Sanctuary that folls e of U d hg Well-known
lbeﬁzcew%s many Migratory birds from during padd o €s 18 performed
ocated vs?l?il: ] C(}lder regions, g (A)  Kajri %€ cultivatjqy, o
districts of Uttar Prad: h ?the fOIlowing (©) Rasiya Cul'ka Bay]
on
(C) Etan A& O kil T
®) Baliy T Ay 5 | R 3
146.%1}1}%“1% J(:)) 3. T e |
NGRS WA TS | (o &gq‘ﬂww
&E‘"’?“ﬁ% ? G); %é’ﬁt |
'%E'q? i (B) TR
Which of the follgmng social iia Madan Merslty Was ¢
platforms is best Suited for Professiona] °°0pemt10n 0 Ohap maqm]ded b
nctworl_cmg and job hun g ? (A) Dr. AImWh am Viya o
(A) Linkedin (B) Instagrap, (B) Mag, e BeSamonEﬁle fOHOWing 9
(C) Snapchat (D) Faceboo () Rabdi;?rB i Cany |
mmem-mwsmw:m-mwmm ""'---n-\:\(D) Sar arlath it
3 T
vy, ©ate]
L P 3



